Chapter 11 Review
1. How many different outfits can you put together if you own 3 shirts, 2 pairs of pants, and 2 pairs of runners?
2. How many two-digit numbers can be made from the digits 2, 3, 4, 7, and 9 if no digit can be repeated?
3. How many arrangements can be made using all the letters of the word ABBOTSFORD?

4. A lacrosse team’s record over a season was
15 wins, 4 losses, and 2 ties.

a) In how many different orders could this record have occurred?

b) If you know that the team started the season strongly with five straight wins, how many orders are possible for the team’s results?
5. Determine the number of arrangements of the letters of the word TATTOO under each condition:

a) without further restriction

b) begins with a T
c) begins with two Ts

d) begins with three Ts
6. Solve for the variable.

a)  nP6 = 5(nP5)
 b)  nCn – 2 = 10
7. ) If there are 10 boys and 20 girls in the class, how many ways can a committee of 3 people be selected from the class if the committee must have 1 boy and 2 girls?
8. How many odd 3-digit whole numbers are there? For example, 203 is acceptable but 023 is not.
9. A theatre company has 13 actors—8 men and 5 women. How many different ways are there to choose from the company a group of 6 that includes at least 4 women?
10. . Expand and simplify using the binomial theorem.

a) (3x – 4)3

